B N ERE

1. LEA4
T4 R 6 &R EEEKC C T Vi%fE T3
THEA RN [ SRS T N
2. TENE
1)  FHEIT4 SPGRNEEFHET B KR
2) T I& THEEMER T
3) T i 246 H [ H S 6% THI12H
ES SF 7T 3H14H
4) T EgE

i@ Aokt 5w m



(RO EEFHFTEN

PR NERE

TH4 | R6&RIIEEERCCT Vi H

THXSy « TfE - FER A B & & B A a1l ] 7
I B (s LA = 1 6, 724, 000
CCTVRR i = 1 6, 724, 000
CCTVHE & 2V 1 6, 724, 000 |CCTVHA7HEE 2 =
HDME B IP A 72518 (BEMIZEE ZTe) 147 : f8E
f
L2-SW 2 &
EE® 57 D;
1000BASE-X4v47z~% (SFP) 4 bia
¥y Mty MEERE( 47 2%
Bas B AR 2 =X 1 6, 724, 000
IS H B A = 1 3,419, 654
CCTVaE% i L = 1 1, 067, 814
CCTVEEE G & T 2V 1 173,240 |CCTVHA7 %5 E PR TR 2 &
HDFE BRI IPh AT
L2-SWak#& 2 &
-7 VR T = 1 403, 532 | gt R 20 m
SM8C  JVAH)v7
e b AR 20 m
SMLOOC  JvA#Y 97 5
-7 Vi 2 (530
Ser=7" WAk 2 (530
=7 vk 2 1A
20T
=77 vakER 4 51
{RREHE IR
20T
Ser-7" V&R 2 (50
(B EDOH)

-1 - ESR o3 E < o] 3 ok S




H

P

)

HNERE

E/RUNIEPEE =2

W

THE4

R 6 %l | [ELEEEE C C T V aklif L%

LHEX Sy - L - fEjl HOAL

#

e

ol

il Gl

A - B T K

415, 646

iR LA

F E P (AR A AR E) 50 ;
BHMLE

G36 JREMEMRE) ;
BHMLE

G36 (JEEMEME) 2mAT ;
SJRBLA] &5 BRI R

38mm ;
SJRBLA] &5 BRI R

24mm ;
BB

CV3. 5mm2 X 3C (600VZERER V7" W) ;
BB

CV5. 5mm2 X 3C (600VZERER V7" W) ;
BB

VVRS. Omm2-3C (600Vt" =Wifafgkr—7" 1) ;

BAMEL AR
JRANHLANY=7" ) h727 Vbe ;
LT (EX)

20 m

20 m

20 m

20 m

20 m

20 m

20 m

20

=

20

=

CCTVEEE fitk T

o

38, 080

CCTVH 7% & 1 2=
R

ob | B

-7 i

o

7,572

St Hi v R
HrPEPECRE  18mmPA T R

40

=

P - Bl T

o

29, 744

EAMRLN
TR 20mBl T R ;

40

=

YAThAVT) V=yay

o

424, 340

YAThAVT) V=yay

o

424, 340

YAThAVT) V=yay

THHR

o

Bk T

137, 500

Hifis T

o

137, 500

% (FEX)
(2=f& BT —45)

i@ Aokt 5w m




E/RUNIEPEE =2

W

TH4 | R6&RIIEEERCCT Vi H

THXSy - TH - fly = #
R L , 790, 000
ARmE L = 1, 790, 000 1 =
[ELRE Ty v 3,419, 654
im R # = 1,016, 220
B SIS = 72, 220
FeAfriE By v 72, 220 G ET —IMERE 1 X
%N 1 v
ol # (RKE L) v 944, 000
Wi TR = 4, 435, 874
B B v 2, 891, 000
e T E = 2, 024, 000
Pl e 2y v 799, 000
e A v 1, 225, 000
TRl = 45,672, 028
—fRE R % v 6, 861, 972
T fifik& = 91, 890, 000

i@ Aokt 5w m




(]

H AR E

(RO EEFHFTEN

THE4L | R6ARMINEEERKCCT Vi LE
THRX Sy « Lff - fi5 HOAL ¥ = & F i a1l % 7
I B (s LA Y 6, 477, 000
CCTV# i = 6,477, 000
CCTVEE & = 3,362, 000 |CCTVH 7% 1 =
HD & Efﬁ” IPhA735TE (IEEE S Te) 1i7 : B8
f
L2-SW 1 =
EER 47D ;
1000BASE-X4{47z—% (SFP) 2 #
FHTETy M-ty MEREBE V8T -7
IR = 3,115,000 | B4\ Mg dE R & 1 &
ARAERETON, —fRA, HER ;
Sy 1 1=
EIRTERE, HER
B L2 Y 6, 477, 000
B B = 2, 185, 850
CCTVRZ (i L. = 1, 035, 790
CCTVEEERRE T = 86, 620 | CCTVHA7 % B R+ 7R HE 1 =
HDfH B L IPh AT 351
L2-SWi#& 1 =
IR R T = 1 184,270 | R4\ FH M5 7 FE IR E AR 1 R 9 1 =
/\EE»,@J;HXES 1 'f:?
7" 7y M-hEURE 1 i
TAEEEE T = 1 342,300 | AL E 1 & T
a)-ME 13-19-7.0 BHEX1;
B E T = 1 10, 320 |DFEEH 1 b
Seh=7" VR T = 1 201, 766 | St Ht P R 10 m
SM8C  JVA4lv)
St i P S AR 10 m
-4 - [E A5 AbkEt 5 i 5




(RO EEFHFTEN

B N ERE

TH4 | R6&RIIEEERCCT Vi H

T4y - T - flR] HOAL #

i
S
=
"
=
iy

(it

2

SML00C  JVA#) 9 .
-7 g ! i
Yeh-7" npch ! o
-7 vakBR ! A8

20T
Seh-7" vakBR : H

fRIER R ER

200 L ks
Yeh-7 VFR AT ! i

(BB D )

s 10 m
R = 1 210,514 | Ml

AT ’ F E P (J{HE'E A R EE) 50 ;

EAMEE 10 m
G36 (JEEMEMRE) ;

EAMEE 10 m
G36 (EFMEMRE) 2mAT ;

SJRBLIA] &5 BRI R 10 m
38mm ;

SJRBLA &5 BRI R 10 m
24mm ;

AR R 1 m
JEIMEMRE (G)  MEOMERIG ;

BAMEL AR \ 10 m
CV3. 5mm2 X 3C (600VZEAER V=77 W) ;

BAMEL AR \ 10 m
CV5. 5mm2 X 3C (600VZEAGR V=77 W) ;

BAMEL AR \ 10 m
VVRS. 0mm2-3C (600Vt " =jifafgkr—7" 1) ;

BAMEL AR 10 m
JEBANVHLANY=7 ) h737 Ube ;

BN ACRR 1 m
IV7/—7)L 5. 5mm2 ; N

EEET GER) 1 3

-5 - ESR o3 E < o] 3 ok S




[y ELE F=HATE N
FHRENARE
TH4 | R6&UUTJIIEEERKCCT VR LE
THRXy - TH - f@yl VA " & & H A il 7
YAThAVT) VY3 = 1 255, 260
YAThAVT) V=yay = 1 255,260 |VATh-AVT) V=3 =
R L = 1 894, 800
R L = 1 894, 800 |23 E A B 1 =
B T v 1 2, 185, 850
ESGIITE = 1 727, 000
IBEER T (K5 1) = 1 727, 000
M A = 1 2,912, 850
B e R v 1 2, 085, 000
Bas el e = 1 1, 652, 000
e fiv Wty = 1 472, 000
BeanE Ay = 1 1, 180, 000
TR = 1 6, 649, 850
6 -

i@ Aokt 5w m



(RO EEFHFTEN

PR NERE

TH4 | R6&RIIEEERCCT Vi H

THXSy « TfE - FER A B & & B A a1l ] 7
I B (s LA = 1 3, 362, 000
CCTVRR i = 1 3, 362, 000
CCTVHE & 2V 1 3,362, 000 |CCTVHA7HEE 1 =
HDME B IP A 72518 (BEMIZEE ZTe) 147 : f8E
f
L2-SW 1 &
EE® 57 D;
1000BASE-XAv#7:x=% (SFP) 2 bia
¥y Mty MEERE( 47 2%
Bas B AR 2 =X 1 3, 362, 000
IS H B A = 1 1, 640, 877
CCTVaE% i L = 1 533, 907
CCTVEEE G & T 2V 1 86, 620 | CCTVH A7 EHE T 7FH%E 1 &
HDFE BRI IPh AT
L2-SWak#& 1 &
-7 VR T = 1 201, 766 | St LR 10 m
SM8C  JVAH)v7
e b AR 10 m
SMLOOC  JvA#Y 97 5
-7 Vi 1 (530
Ser=7" WAk 1 (530
=7 vk 1 1]
20T
=77 vakER 2 51
{RREHE IR
20T
Ser-7" V&R 1 (50
(B EDOH)

-7 - ESR o3 E < o] 3 ok S




H

P

E/RUNIEPEE =2

)

HNERE

W

TH4 | R6&RIIEEERCCT Vi H

LHEX Sy - L - fEjl HOAL

e

#

il il 2! B

A - B T K

207, 823

PR

F E P QA& & REAE ) 50 5
BHMLE

G36 JREMEMRE) ;
BHMLE

G36 (JEEMEME) 2mAT ;
SJRBLA] &5 BRI R

38mm ;
SJRBLA] &5 BRI R

24mm ;
BB

CV3. 5mm2 X 3C (600VZERER V7" W) ;
BB

CV5. 5mm2 X 3C (600VZERER V7" W) ;
BB

VVRS. 0mm2-3C (600Vt " =Wffafzr—7" 1) ;
BB

BAHLANS-7 V. h727 )5e ;
E¥+T (ER)

10 m

10 m

10 m

10 m

10 m

10 m

10 m

10

=

10

=

CCTVEEE fitk T

o

19, 040

CCTVH 7% & 1 2=
R

ob | B

-7 i

o

3, 786

St Hi v R
HrPEPECRE  18mmPA T R

20

=

P - Bl T

o

14, 872

EAMRLN
TR 20mBl T R ;

20

=

o

YAThAVT) V=yay

212,170

o

YAThAVT) V=yay

212,170

YAThAVT) V=yay

=i
R
H
2

894, 800

St
2
s
o
H
2

894, 800

i@ Aokt 5w m




(RO EEFHFTEN

RN E
THE4 | R6UNJIEHEERKCCT Vi LHF
THXSy - TH - fly HOfr ¥ & & fH # bl N g

[ELRE Ty X 1 1, 640, 877
im R # v 1 561, 000
ol # (RE L) v 1 561, 000
Wi TR v 1 2, 201, 877
B Bt X 1 1, 648, 000
Hedn ey v 1 1,011, 000
Pl e 2y v 1 399, 000
s A v 1 612, 000
TRl v 1 4, 860, 877

-9 - ESR o3 E < o] 3 ok S




(]

H AR E

(RO EEFHFTEN

THE4L | R6ARMINEEERKCCT Vi LE
THRX Sy « Lff - fi5 HOAL ¥ = & F i a1l % 7
I B (s LA Y 6, 477, 000
CCTV# i = 6,477, 000
CCTVEE & = 3,362, 000 |CCTVH 7% 1 =
HD & Efﬁ” IPhA735TE (IEEE S Te) 1i7 : B8
f
L2-SW 1 =
EER 47D ;
1000BASE-X4{47z—% (SFP) 2 #
FHTETy M-ty MEREBE V8T -7
IR = 3,115,000 | B4\ Mg dE R & 1 &
ARAERETON, —fRA, HER ;
Sy 1 1=
EIRTERE, HER
B L2 Y 6, 477, 000
B B = 2, 185, 850
CCTVRZ (i L. = 1, 035, 790
CCTVEEERRE T = 86, 620 | CCTVHA7 % B R+ 7R HE 1 =
HDfH B L IPh AT 351
L2-SWi#& 1 =
IR R T = 1 184,270 | R4\ FH M5 7 FE IR E AR 1 R 9 1 =
/\EE»,@J;HXES 1 'f:?
7" 7y M-hEURE 1 i
TAEEEE T = 1 342,300 | AL E 1 & T
a)-ME 13-19-7.0 BHEX1;
B E T = 1 10, 320 |DFEEH 1 b
Seh=7" VR T = 1 201, 766 | St Ht P R 10 m
SM8C  JVA4lv)
St i P S AR 10 m
- 10 - [E A5 AbkEt 5 i 5




(RO EEFHFTEN

B N ERE

TH4 | R6&RIIEEERCCT Vi H

T4y - T - flR] HOAL #

i
S
=
"
=
iy

(it

2

SML00C  JVA#) 9 .
-7 g ! i
Yeh-7" npch ! o
-7 vakBR ! A8

20T
Seh-7" vakBR : H

fRIER R ER

200 L ks
Yeh-7 VFR AT ! i

(BB D )

s 10 m
R = 1 210,514 | Ml

AT ’ F E P (J{HE'E A R EE) 50 ;

EAMEE 10 m
G36 (JEEMEMRE) ;

EAMEE 10 m
G36 (EFMEMRE) 2mAT ;

SJRBLIA] &5 BRI R 10 m
38mm ;

SJRBLA &5 BRI R 10 m
24mm ;

AR R 1 m
JEIMEMRE (G)  MEOMERIG ;

BAMEL AR \ 10 m
CV3. 5mm2 X 3C (600VZEAER V=77 W) ;

BAMEL AR \ 10 m
CV5. 5mm2 X 3C (600VZEAGR V=77 W) ;

BAMEL AR \ 10 m
VVRS. 0mm2-3C (600Vt " =jifafgkr—7" 1) ;

BAMEL AR 10 m
JEBANVHLANY=7 ) h737 Ube ;

BN ACRR 1 m
IV7/—7)L 5. 5mm2 ; N

EEET GER) 1 3

- 11 - ESR o3 E < o] 3 ok S




[y ELE F=HATE N
FHRENARE
TH4 | R6&UUTJIIEEERKCCT VR LE
THRXy - TH - f@yl VA " & & H A il 7
YAThAVT) VY3 = 1 255, 260
YAThAVT) V=yay = 1 255,260 |VATh-AVT) V=3 =
R L = 1 894, 800
R L = 1 894, 800 |23 E A B 1 =
B T v 1 2, 185, 850
ESGIITE = 1 727, 000
IBEER T (K5 1) = 1 727, 000
M A = 1 2,912, 850
B e R v 1 2, 085, 000
Bas el e = 1 1, 652, 000
e fiv Wty = 1 472, 000
BeanE Ay = 1 1, 180, 000
TR = 1 6, 649, 850
~ 19 -

i@ Aokt 5w m



(]

H AR E

(RO EEFHFTEN

THE4L | R6ARMINEEERKCCT Vi LE
THRX Sy « Lff - fi5 HOAL ¥ = & F i a1l % 7
I B (s LA Y 6, 477, 000
CCTV# i = 6,477, 000
CCTVEE & = 3,362, 000 |CCTVH 7% 1 =
HD & Efﬁ” IPhA735TE (IEEE S Te) 1i7 : B8
f
L2-SW 1 =
EER 47D ;
1000BASE-X4{47z—% (SFP) 2 #
FHTETy M-ty MEREBE V8T -7
IR = 3,115,000 | B4\ Mg dE R & 1 &
ARAERETON, —fRA, HER ;
Sy 1 1=
EIRTERE, HER
B L2 Y 6, 477, 000
B B = 2, 185, 850
CCTVRZ (i L. = 1, 035, 790
CCTVEEERRE T = 86, 620 | CCTVHA7 % B R+ 7R HE 1 =
HDfH B L IPh AT 351
L2-SWi#& 1 =
IR R T = 1 184,270 | R4\ FH M5 7 FE IR E AR 1 R 9 1 =
/\EE»,@J;HXES 1 'f:?
7" 7y M-hEURE 1 i
TAEEEE T = 1 342,300 | AL E 1 & T
a)-ME 13-19-7.0 BHEX1;
B E T = 1 10, 320 |DFEEH 1 b
Seh=7" VR T = 1 201, 766 | St Ht P R 10 m
SM8C  JVA4lv)
St i P S AR 10 m
- 13 - [E A5 AbkEt 5 i 5




(RO EEFHFTEN

B N ERE

TH4 | R6&RIIEEERCCT Vi H

T4y - T - flR] HOAL #

i
S
=
"
=
iy

(it

2

SML00C  JVA#) 9 .
-7 g ! i
Yeh-7" npch ! o
-7 vakBR ! A8

20T
Seh-7" vakBR : H

fRIER R ER

200 L ks
Yeh-7 VFR AT ! i

(BB D )

s 10 m
R = 1 210,514 | Ml

AT ’ F E P (J{HE'E A R EE) 50 ;

EAMEE 10 m
G36 (JEEMEMRE) ;

EAMEE 10 m
G36 (EFMEMRE) 2mAT ;

SJRBLIA] &5 BRI R 10 m
38mm ;

SJRBLA &5 BRI R 10 m
24mm ;

AR R 1 m
JEIMEMRE (G)  MEOMERIG ;

BAMEL AR \ 10 m
CV3. 5mm2 X 3C (600VZEAER V=77 W) ;

BAMEL AR \ 10 m
CV5. 5mm2 X 3C (600VZEAGR V=77 W) ;

BAMEL AR \ 10 m
VVRS. 0mm2-3C (600Vt " =jifafgkr—7" 1) ;

BAMEL AR 10 m
JEBANVHLANY=7 ) h737 Ube ;

BN ACRR 1 m
IV7/—7)L 5. 5mm2 ; N

EEET GER) 1 3

- 14 - ESR o3 E < o] 3 ok S




[y ELE F=HATE N
FHRENARE
TH4 | R6&UUTJIIEEERKCCT VR LE
THRXy - TH - f@yl VA " & & H A il 7
YAThAVT) VY3 = 1 255, 260
YAThAVT) V=yay = 1 255,260 |VATh-AVT) V=3 =
R L = 1 894, 800
R L = 1 894, 800 |23 E A B 1 =
B T v 1 2, 185, 850
ESGIITE = 1 727, 000
IBEER T (K5 1) = 1 727, 000
M A = 1 2,912, 850
B e R v 1 2, 085, 000
Bas el e = 1 1, 652, 000
e fiv Wty = 1 472, 000
BeanE Ay = 1 1, 180, 000
TR = 1 6, 649, 850
~ 15 -

i@ Aokt 5w m



(RO EEFHFTEN

PR NERE

TH4 | R6&RIIEEERCCT Vi H

THXSy « TfE - FER A B & & B A a1l ] 7
I B (s LA = 1 3, 362, 000
CCTVRR i = 1 3, 362, 000
CCTVHE & 2V 1 3,362, 000 |CCTVHA7HEE 1 =
HDME B IP A 72518 (BEMIZEE ZTe) 147 : f8E
f
L2-SW 1 &
EE® 57 D;
1000BASE-XAv#7:x=% (SFP) 2 bia
¥y Mty MEERE( 47 2%
Bas B AR 2 =X 1 3, 362, 000
IS H B A = 1 1, 640, 877
CCTVaE% i L = 1 533, 907
CCTVEEE G & T 2V 1 86, 620 | CCTVH A7 EHE T 7FH%E 1 &
HDFE BRI IPh AT
L2-SWak#& 1 &
-7 VR T = 1 201, 766 | St LR 10 m
SM8C  JVAH)v7
e b AR 10 m
SMLOOC  JvA#Y 97 5
-7 Vi 1 (530
Ser=7" WAk 1 (530
=7 vk 1 1]
20T
=77 vakER 2 51
{RREHE IR
20T
Ser-7" V&R 1 (50
(B EDOH)

- 16 - ESR o3 E < o] 3 ok S




H

P

E/RUNIEPEE =2

)

HNERE

W

TH4 | R6&RIIEEERCCT Vi H

LHEX Sy - L - fEjl HOAL

e

#

il il 2! B

A - B T K

207, 823

PR

F E P QA& & REAE ) 50 5
BHMLE

G36 JREMEMRE) ;
BHMLE

G36 (JEEMEME) 2mAT ;
SJRBLA] &5 BRI R

38mm ;
SJRBLA] &5 BRI R

24mm ;
BB

CV3. 5mm2 X 3C (600VZERER V7" W) ;
BB

CV5. 5mm2 X 3C (600VZERER V7" W) ;
BB

VVRS. 0mm2-3C (600Vt " =Wffafzr—7" 1) ;
BB

BAHLANS-7 V. h727 )5e ;
E¥+T (ER)

10 m

10 m

10 m

10 m

10 m

10 m

10 m

10

=

10

=

CCTVEEE fitk T

o

19, 040

CCTVH 7% & 1 2=
R

ob | B

-7 i

o

3, 786

St Hi v R
HrPEPECRE  18mmPA T R

20

=

P - Bl T

o

14, 872

EAMRLN
TR 20mBl T R ;

20

=

o

YAThAVT) V=yay

212,170

o

YAThAVT) V=yay

212,170

YAThAVT) V=yay

=i
R
H
2

894, 800

St
2
s
o
H
2

894, 800

,17,

i@ Aokt 5w m




(RO EEFHFTEN

RN E
THE4 | R6UNJIEHEERKCCT Vi LHF
THXSy - TH - fly HOfr ¥ & & fH # bl N g

[ELRE Ty X 1 1, 640, 877
im R # v 1 561, 000
ol # (RE L) v 1 561, 000
Wi TR v 1 2, 201, 877
B Bt X 1 1, 648, 000
Hedn ey v 1 1,011, 000
Pl e 2y v 1 399, 000
s A v 1 612, 000
TRl v 1 4, 860, 877

- 18 - ESR o3 E < o] 3 ok S




(]

H AR E

(RO EEFHFTEN

THE4L | R6ARMINEEERKCCT Vi LE
THRX Sy « Lff - fi5 HOAL ¥ = & F i a1l % 7
I B (s LA Y 6, 477, 000
CCTV# i = 6,477, 000
CCTVEE & = 3,362, 000 |CCTVH 7% 1 =
HD & Efﬁ” IPhA735TE (IEEE S Te) 1i7 : B8
f
L2-SW 1 =
EER 47D ;
1000BASE-X4{47z—% (SFP) 2 #
FHTETy M-ty MEREBE V8T -7
IR = 3,115,000 | B4\ Mg dE R & 1 &
ARAERETON, —fRA, HER ;
Sy 1 1=
EIRTERE, HER
B L2 Y 6, 477, 000
B B = 2, 185, 850
CCTVRZ (i L. = 1, 035, 790
CCTVEEERRE T = 86, 620 | CCTVHA7 % B R+ 7R HE 1 =
HDfH B L IPh AT 351
L2-SWi#& 1 =
IR R T = 1 184,270 | R4\ FH M5 7 FE IR E AR 1 R 9 1 =
/\EE»,@J;HXES 1 'f:?
7" 7y M-hEURE 1 i
TAEEEE T = 1 342,300 | AL E 1 & T
a)-ME 13-19-7.0 BHEX1;
B E T = 1 10, 320 |DFEEH 1 b
Seh=7" VR T = 1 201, 766 | St Ht P R 10 m
SM8C  JVA4lv)
St i P S AR 10 m
-19 - [E A5 AbkEt 5 i 5




(RO EEFHFTEN

B N ERE

TH4 | R6&RIIEEERCCT Vi H

T4y - T - flR] HOAL #

i
S
=
"
=
iy

(it

2

SML00C  JVA#) 9 .
-7 g ! i
Yeh-7" npch ! o
-7 vakBR ! A8

20T
Seh-7" vakBR : H

fRIER R ER

200 L ks
Yeh-7 VFR AT ! i

(BB D )

s 10 m
R = 1 210,514 | Ml

AT ’ F E P (J{HE'E A R EE) 50 ;

EAMEE 10 m
G36 (JEEMEMRE) ;

EAMEE 10 m
G36 (EFMEMRE) 2mAT ;

SJRBLIA] &5 BRI R 10 m
38mm ;

SJRBLA &5 BRI R 10 m
24mm ;

AR R 1 m
JEIMEMRE (G)  MEOMERIG ;

BAMEL AR \ 10 m
CV3. 5mm2 X 3C (600VZEAER V=77 W) ;

BAMEL AR \ 10 m
CV5. 5mm2 X 3C (600VZEAGR V=77 W) ;

BAMEL AR \ 10 m
VVRS. 0mm2-3C (600Vt " =jifafgkr—7" 1) ;

BAMEL AR 10 m
JEBANVHLANY=7 ) h737 Ube ;

BN ACRR 1 m
IV7/—7)L 5. 5mm2 ; N

EEET GER) 1 3

- 20 - ESR o3 E < o] 3 ok S




[y ELE F=HATE N
FHRENARE
TH4 | R6&UUTJIIEEERKCCT VR LE
THRXy - TH - f@yl VA " & & H A il 7
YAThAVT) VY3 = 1 255, 260
YAThAVT) V=yay = 1 255,260 |VATh-AVT) V=3 =
R L = 1 894, 800
R L = 1 894, 800 |23 E A B 1 =
B T v 1 2, 185, 850
ESGIITE = 1 727, 000
IBEER T (K5 1) = 1 727, 000
M A = 1 2,912, 850
B e R v 1 2, 085, 000
Bas el e = 1 1, 652, 000
e fiv Wty = 1 472, 000
BeanE Ay = 1 1, 180, 000
TR = 1 6, 649, 850
~ 91 -

i@ Aokt 5w m



